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LINGUISTIC
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Arbitrariness as a feature of language means that
(A) Words are mixed randomly in communication.
(B) The meanings of words changes frequently.
(C) There is no necessary connection between the form of a word and its meaning.

(D) There is an inherent connection between words and their meanings.

2. Inthe sentence ‘somebody stole my folder’, ‘somebody’ is a
(A) Common noun (B) Proper noun

(C) Indefinite pronoun (D) Demonstrative pronoun

3.  In which function of communication ‘Addresser’ is the target factor ?
(A) Referential (B) Emotive
(C) Conative (D) Metalingual

4.  Vakyapadiya has been authored by
(A) Yask (B) Patanjali
(C) Nagesha (D) Bhartrihari

S.  Assertion (i) : In the sentence ‘My friend baked the cake’, the word ‘the’ is a definite
article.

Assertion (ii) : The words ‘a’, ‘an’ and ‘the’ are examples of content words.
Codes :

(A) Both (i) and (ii) are true.

(B) (i) is true, but (ii) is false.

(C) (i) 1is false, but (ii) is true.

(D) Both (i) and (ii) are false.
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CINIRCRIET

woa — 11
TR : =0 TeT H e (50) SE-fashedi U9 € | Uieh U o & (2) 3§ | Wt Ui o SRS |

1. ST % ST o &Y H AGresehdl T I & —
(A) ¥ Fo9oT | Arghess &9 9 et 8 € |
(B) VIR % 37 IR-aR UNafad & § |
(C) 31 % &Y X 3HF 31 o o g Aard Ty el & |
(D) s 3 57 37t & e ueh ffed Tag & |

2. @O H % TRl 7 B wiee? 9@ fo@r, “fedt 37 8
(A) STfqeTes g3 (B) ATHETE G

(C) AMToaaTas® qaH (D) TeeHIHS qa=H

3. GUYO & hE TR | UTeehdl o8 e & —
(A) e (B) HorTcHs
(ONREZIS:ED (D)  SARPIIFT

4. IHURE H AGH Y —
(A) IE=H (B) uaSIter
(C) Tme (D) wfER

5.  AMUHAA (i) : “AE S dH T HP AT H IR T Teh FYEEE SUIE € |
AfTFR (i) : 1T “@’, ‘an’ 31X ‘the’ 3T IR % IR & |
E T
(A) (i) 3 (i) I W& & |
(B) (i) Wel & W (ii) Wel &l & |
(C) (i) ToT & W (i) WA T |
(D) (i) 3 (ii) I TAT & |
D34 3 Paperdl
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6. The famous claim ;

‘The Sanskrit language, whatever be its antiquity, is of a wonder structure; more perfect

than Greek, more copious than the Latin, and mere delicately refined than either...... was
made by

(A) Leonard Bloom field (B) Roy Harris

(C) William Jones (D) Edward Sapir

7.  The terms ‘stress’, ‘pitch’ and ‘intonation’ are called
(A) Segmental features
(B) Suprasegmental features
(C) Distinctive features

(D) Extra-linguistic features

8.  Assertion (i) : An alternate sign language is the first language of a group that does not

have access to spoken language.

Assertion (ii) : A primary sign language is a system of gestures for use in certain contexts

where speech cannot be used, and is developed by people who use speech in normal
circumstances.

Codes :

(A) Both (i) and (ii) are false.
(B) Both (i) and (ii) are true.
(C) (i) 1is false, but (ii) is true.
(D) (i1) is false, but (i) is true.

9.  The following languages are written in the Devanagari script.
(A) Hindi, Sanskrit, Khasi
(B) Hindi, Brahmi, Pashto.
(C) Hindi, Pali, Manipuri.
(D) Hindi, Sanskrit, Dogri.

10. The English phonemes /f/ and /z/ differ in the following aspect/s.
(A) Place of articulation
(B) Manner of articulation
(C) Manner of articulation and voicing

(D) Place of articulation and voicing
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6. UNGF AT

TP TN, AT fohet T ST UTHT &, SIS GLATaTed &, Uih st STUeT STTeeh Feieh,
WAl P T ATF V% Tget, R fohadl off aor = i H 2ifuss o &9 9 uRepd...”

fohe FRT & 2
(A) TR STIRES (B) waeRE
(C) faferaw st (D) Ueas dR

7. FATEN, “TRTEA AT A T T HET ST & 2
(A) TeA faremedns (B) WeR fafyredant
(C) =AM farerean (D) ¥R fafemeant

8. A (i) : U Tashed vToT TgE i verm o € RS9t SEer Wit e § 6l ¥ |
AR (i) : WAt Foha aroT FHived et H UET &9 e-9E h Uil § STl 9
URTETE W STk ST FERT X ST ST G ATk ST T Al FERT fRaT ST Wbl & ST AT &

39 foemtaa fomar ST Hear & |

E T

(A) (i) 3 (ii) I TAT & |
(B) (i) 3R (ii) T W& € |

(C) (i) oI & WY (ii) WA T |
(D) (i) T € R (1) T T |

9. FAfaEd weTd SRl fofa o fordt STt & —
(A) fo=d, Tepd, et
(B) Te=t, sall, wvalt
(©) e, wifer, wforgdy
(D) fet, Hep, S

10. ST @ /f/ T /2/ TetatEd Jme | = €
(A) SR H A
(B) 3@ &l Afa
(C) S=UROT 3R =EIEHIOT i AT
(D) STAROT 3R HHIHIOT H T
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11. During the process of Nasalization

(A) The air is fully released through the nasal passage.

(B) The air is released through both the nasal passage and oral passage.
(C) The air is partially released through the mouth.

(D) The air is partially released through the nasal passage.

12. Pick out the odd set off words from among the following :
(A) front; back (B) aspirated; unaspirated
(C) rounded; unrounded (D) low; high

13. The words ‘house’ and ‘mouse’ can be referred to as
(A) Minimal pair (B) Homophones
(C) Disyllabic words (D) Allophones

14. /t/ and /1/ are two independent phonemes in a language but in a few contexts e.g. /di:va:r/,

/di:va:l/ the two items occur in free variation. How will you account for this process ?
(A) Merger (B) Convergence

(C) Neutralization (D) Coalesce

15. Morphological typology refers to the ‘classification’ languages on the basis of
(i) the nature and function of morphemes used in the languages.

(1) polysynthetic languages give hard time to the morphologists for the concatenation of

morphemes.
(iii) Isolating languages show abundant use of bound morphemes.
(iv) Inflectional languages use plenty of portmanteau morphemes.
Codes :
(A) Only (i) and (iv) are correct.
(B) Only (iii) and (iv) are correct.
(C) (), (i1) and (iv) are correct.

(D) Only (i) and (ii) are correct.
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11.  3TIATGRHIOT Sl UfsHaT 7 :
(A) TRt § 9rg qota; it g g |
(B) STHI-AWT SR Hifges gn qHT 9 arg it g € |
(C) 91F J@ ¥ At w7 I fHwifad &l € |
(D) 91 AE-H § AT € 9 it g ¢ |

12. FATArEd | 9 915 o foud q=adt sl 37enT &
(A) W, == (B)  HETHIOT, STeawToT
(C) Tifera, sferd (D) fogm, dga

13. TR 3R WIS T ST YAl ol el ST Gobell &
(A) FidHIH (B) wH@A
(C) Teomr ey (D) H&H

14. /Y T /Y UK AT % & WA WA €, W] $O GeHl 7 99 /[y, Aaer § F S A g
IRAAT-TIEY 37T & | 29 Uehal i 31T 41 Fall 2

(A) foerm (B) amaeRor
(C) TAfauseRToT (D) HAIEHT

:
A
7

15. U A3 U&Y {o3i o vl JomeT o1 aeiiehdor fHfeiad

(i) T H R SUE T WY Ud S

(i) TEHTATCHE TT3T T SIUHT T (RN St Sea= el & |
(iii) JIFRRY WIS T g WHT & YET H 3T o= ST & |

(iv) Toufoaues amor & veR o § Sy SOEt 6 WS S g |

E T

(A) HaA (i) 3 (iv) T E |

(B) %a (iii) 3T (iv) W& € |

(©) (i), (ii) 3 (iv) T E |

(D) aA (i) 3 (i) T T |
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16. Match the following :
List -1 List - II

a Endocentric 1. No. of argument(s) of the VP

b.  Enclitic 2. Addition of clitic after the word

c Circumfix 3. Compound with a head

d.  Subcategorization rule 4. Simultaneous affixation to a morpheme
Codes :

a b c d

(A 4 2 3 1
B 1 3 2 4
< 3 4 2 1
D) 3 2 4 1

17. Match the items in List — I with those in List — II. Then choose the correct answer from the

codes :
List -1 List - II
a.  Compounding 1. National
b.  Clipping 2. Postman
c.  Acronym 3. Flu
d.  Derivation 4. Radar
Codes :
a b c d
(A 4 1 2 3
B) 1 2 3 4
< 3 2 1 4
D)y 2 3 4 1

18. Assertion (i) : Base in morphology accepts ‘derivational marker’ while ‘stem’ can take
‘inflectional marker’.

Assertion (ii) : Once the inflectional marker is added to a morpheme, no further
derivation of that morpheme is possible.

Codes :

(A) Only (i) is true, (i1) is false.
(B) Only (ii) is true, (i) is false.
(C) Both (i) and (ii) are true.
(D) Both (i) and (ii) are false.
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16. TG ot G Y

T -1
a.  SAdhEE
b.  gETsET
c. UuEd
d. Susifesor fam
E T
a b
(A 4 2
B) 1 3
< 3 4
D) 3 2

>N \C T \C TR S R o)

1. Toram ugEy o i @ G
2. VIS % SIS ST T AN

3. SR o

4. SUH T GHETOT I 0T

—_ = N = O

17. -1 &l O&T & Gelt-11 St 7]T o A1 GATT B | 3Tk 1% A f§T Fe & el IR A

=l -

HATHHIOT

a
b. FA

C. TR0 I

I

d. =g

E T

(A)
(B)
©
D)

N W o= B~

W NN = O

A o= W N O

v b=

e - 10
FeA
Tt

T
TER (IR T T T W)

—_ Rk~ B~ W o

18. AfWHY (i) : UG H MER AR (Heeh H WHHR FHl &, ot Hfaise, ey

feeTe ohl TR HIAT ¢ |

At (i) : foFet ww o Ush aR) Gut foee &t stre o S € df 39 g 6 9= et

TG TR E |

. TAH

(=N

(A) Had (i) T& €, (ii) T € |

(B) ad (ii) el &, (i) 7o & |

(C) (i) 3 (i) SAT W T |

(D) (i) W (ii) I TAT & |
D349 Paperll
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19. The sound variants which are within the one set and so are not mutually contrastive are
regarded as

(A) archiphonemes (B) allophones
(C) antiphonemes (D) None of the above

20. The aspects model is related to
(A) Standard Theory
(B) Extended Standard Theory
(C) Revised Extended Standard Theory
(D) Government and Binding

21. Match the items from List-I with List-II and select the correct items from the codes given

below :
List -1 List - II
a.  Subject 1. Possession
b.  Verb 2. Bahuvrihi
c.  Exocentric 3. Can show tense
d.  Genitive 4. NP immediately dominated by S
Codes :
a b c d
(A 1 2 3 4
B) 1 3 2 4
< 4 2 3 1
Dby 4 3 2 1

22. According to G-B theory, the case-assigner categories are

(i) INFL (i) Verb

(ii1)) Noun (iv) Preposition
Codes :

(A) Both (i) and (iv) (B) Only (iii)

(©) (), (i1) and (iv) (D) (v), (iii) and (i)
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19. & T ST UH THE F I & I AT 09 | fauq 78 &€, FHeand & —
(A) ITHETH (B) SW=H
(C) Tt feret (D) 3Ude hS T

20. “3MFEY ATee! fHEd Waud € 2
(A) e
(B) TUFHISS Wes Rl

(C) TomEss tFadss Wes fody

(D) TEHHE UE (e

20, L T G F o e g s A R 5 @ W s

T -1 Tt - 11
a. = 1. T&y
b. e 2. EitE

c. dEHEH 3. HA (TURD

d. WdUHE 4. O UGEY A T §

T

a b c d
A 1 2 3 4
B 1 3 2 4
<© 4 2 3 1
D)y 4 3 2 1

22, SHE fagid % IR HRE-HaRE St €

(i) STETATEHTA. (i) fopam

(iii) &= (v) @@

E T

(A) (i) R (iv) I (B) e (iii)

(©) (), (i) 3R (iv) (D) (iv), (iii) 3R (i)
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23. A di-transitive verb as per the subcategorization rule/principle has following number of

arguments(s) :
(A) One argument (B) Zero argument
(C) Two arguments (D) Three arguments

24. Transformations convert
(A) Surface structure to Deep Structure
(B) Deep Structure to Surface Structure
(C) Both from Deep to surface Structure and from Surface Structure to Deep Structure.

(D) Neither from Deep to Surface Structure and nor from Surface to Deep Structure.

25. Match the items in the List-I1 with those of List-II

List -1 List - II
a. Nama 1. Nouns and Pronouns
b.  Akhyata 2. Verb
c.  Upasarga 3. Prefix
d. Nipata 4. Indeclinable
Codes :
a b c d
A 1 2 3 4
B 1 3 2 4
< 1 4 3 2
D) 1 4 2 3

26. Which of the following is an example of relative opposition ?
(A) Tenant — Landlord (B) Animal — Lion
(C) Smoker — Non-smoker (D) Alive — Dead

27. Relation between a pair of propositions such that the truth of the second proposition

necessarily follows from the truth of the first.
(A) Presupposition (B) Entailment
(C) Focus (D) Projection
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23.  3USifea fam/fagia & SR fyse fhar o frfafed 9= o8 e &
(A) U O (B) ¥ WU
(©) = EhE (D) W TR

24, THHIEOT Uiafcd Hiar & —

(A) eI GLEAT Bl STANE GO H |

(B)  3TiaRes §TaT i a1l a1 | |

(C) 3TaNe ST I STel T 3R Sy W1 ¥ STidies S3aAT, 31 H |

(D) T aRes I Q Sel G § Sff A7 &l ol W1 9 s G |

25. -1 1 AR ! G-I 6 TR % A1 AT

T -1 =t - 11
a. BIEI 1. 9 AR gem
b. smEEm 2. AT
C. ren) 3. 3T
d. 4, I
T
a b c d
A 1 2 3 4
@ 1 3 2 4
© 1 4 3 2
™ 1 4 2 3

26. FrAfcEd # | i | Afer forie 1 0 37T § 2
(A) TRERR — 9 AT
(B) -
(C) HHI T ST — oI el HL arett
(D) S — 33

27. I Ui & S UHT He o 97S el Fideia & dod 8 X &l GEd uawina e

(A) aEEIAr (B)  3Ferar
C) =™ (D) W&y
D314 13  Paperll
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28. Match the linguistic expressions from List-I and the functions of these expression in

List-I1.
List -1 List - II
a May God bless you ! 1. Counter factual
b. I wish I were the king 2. Optative
c Leave the room at once ! 3. Interrogative
d.  May Il use your car ? 4. Imperative
Codes :
a b c d
A 1 4 2 3
B 3 2 4 1
< 2 1 4 3
D) 4 2 3 1

29. Which of the following is not a test to distinguish presupposition from assertion,
implicature, maxims of conversation and speech acts

(A) Negation test
(B) Variation of speech act test
(C) Tensed sentence test

(D) Conjunction test with ‘and’

30. In sound changes, the term ‘syncope’ refers to
(A) the deletion of a vowel/consonant from the interior of a word.
(B) the addition of a vowel in the beginning of a word.
(C) the deletion of a vowel from the initial position of a word.
(D) the deletion of a vowel at the end of the word.

31. Assertion (i) : In a process of sound change ‘Lenition’ refers to weakening of a sound to
its original counterpart.

Reason (ii) : A process of sound change in which ‘stops’ and ‘affricates’ change to
fricatives is also sound weakening.

Codes :

(A) Only (i) is true, (ii) is false.
(B) Only (i1) is true, (1) is false.
(C) Both (i) and (ii) are true.
(D) Both (i) and (ii) are false.
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28. -1 | 3 TS iR et Bl g1l § U MU 3 siiveataeat o it & 9 gaferd #Y

e -1 e - 10

a. HTE=HY ! 1. UiqdeTRE
b. R iET I 2. T
c. dWaRKEITCIT! 3. vHaTEI®
d. H I AXHER? 4. FH
E T

a b c d
A 1 4 2 3
B 3 2 4 1
@ 2 1 4 3
D 4 2 3 1

29. ffcfEd & & -9 stfiyerer, e, ararera s gis qor areh-fFar & qaigae o 3o

T T FE & 2
(A) ToY qeror (B)  aTRAf=IeT TRieTor
(C) oI ST TRI&T0T (D) 3T & QT GYeaFaresh TeTor

30. TF URGH H “HeAAT Ug fhy TR T € 2
(A) T 9155 & STdNe T 9 TRl R/ T foetiom
(B) Tl 915 o ST T H Ueh @R T Jo
(C) Tl 915 o TR T | TaR-Toetio
(D) Tt 91s% o 37 | TR-foetio

31. At (i) : @ uRacH frfrerar ufskan & @ Jot s U1e ¥ ol & S ¢ |
STHU (i) : 9 @7 R wfshar o Tl SR Hedeel Tast & ST ¢ o Wikar off geerdr &
FTd HHE S & |
I
(A) % (i) T & (if) T & |
(B) ad (i) el & (i) T ¢ |
(C) (i) 7@ (i) T WET & |
(D) (i) T (i) T AT € |
D34 15 PaperIl
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32. Panini authored
(A) Mahabhasya (B) Ashtadhyayi

(C) Nagesa (D) Patanjali

33. ‘Case syncretism’ refers to a process in which
(A) One case-marker changes to other.
(B) Two or more cases merge to one form.
(C) Semantics of cases are altered.

(D) Morphological cases are deleted.

34. Assertion (i) : Passive construction facilitates as to hide the action done by the agent.
Reason (ii) : Most Newspaper headlines are in passive-forms precisely due to the reason.
Codes :

(A) Both (i) & (ii) are false.
(B) Both (i) & (ii) are true.
(C) Only (i) is true, (ii) is false.

(D) Only (i1) is true, (1) is false.

35. Assertion (i) : A cognate is a word in a language that has a similar form with another

language and is (was) used with similar meaning.

Reason (ii) : In most Indian languages words such as ‘bus’ ‘station’ ‘platform’ etc. from

English language are cognates.
Codes :

(A) Both (i) & (ii) are true.

(B) Only (ii) is true, (i) is false.
(C) Only (i) is true, (i1) is false.

(D) Both (i) and (ii) are false.
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32. I §RT IEd 0
(A) ¥R (B) Tl
(C) -mw (D) UesIre

33. ‘IR Toe Ee U UihAT Sl S T ¢ e
(A) T faufad faes S & 95T ST ¢ |
(B) &I 1 iueh forvferTal weh w9 H foeitad & s € |
(C) Toiferrat % wreard a5t feU 91 € |
(D) &Y S forfermat et & et € |

34.  f¥er (i) : FHHaTR TEA-FETT STkt S Rt i fsue | WerEdr wRar ¢ |
AT (i) : ATUHT THER-TH & IMdh Teh F BT Sih-ieh FHHATA T H &1 € |
HT:
(A) (i) 3 (ii) I TAT & |
(B) (i) 3T (i) 3T W& € |
(C) = (i) Wl €, (i) T € |
(D) aA (ii) Tl & 3R, (i) T ¢ |

35. AMUHAA (i) : TN, FHdr 9o 61 U 9Iss © TRt T © fohHl 3 o H off & ¥ fSraenr
TN TEE 27 T oA T € (@) |

AMUF (i) : STUHR IRAE AT H ST O ¥ I I TR W T, TR,

ACHH’ TG HolTd I & |

H

(A) (i) 3 (i) AT T T |
(B) e (if) Wl & (1) T € |
(C) = (i) Wl €, (i) T € |
(D) (i) 3R (ii) I AT € |
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36. The compound verbs in South Asian languages demand that
(1)  there has to be minimum two verbs.

(i) both V, and V, can be tense-inflected.
(iii) the meaning of V, should be the meaning of compound verb.
(iv) only V, takes the inflectional markers.

(A) all the above are true.

(B) only (1) and (ii) are true.
(©) (), (1i1) and (iv) are true.
(D) (), (i1) and (iv) are false.

37. The term CALQUE refers to
(A) Borrowing Money (B) Lending
(C) Loan shift (D) Loan translation

38. ‘Ergativity’, where the subject of intransitive verb is case marked in similar way to the
direct object and differently from the subject of transitive verb was proposed by

(A) R.Dixon (B) M. Emaneau
(C) C.A. Ferguson (D) L. BloomField

39. Assertion (i) : A ‘Register’ is illustrative of ‘use’ oriented variation in language.

Assertion (ii) : The use of a ‘register’ depends on the context of use, the topic, as well as
the field.

Codes :

(A) Both (i) and (ii) are true.
(B) Both (i) and (ii) are false.
(C) () is true, but (ii) is false.
(D) (1) is false, but (ii) is true.

40. A basilect is best defined as
(A) ahighly conservative version of Creole.
(B) avariety of language used by baseball players.
(C) the base form of a language.

(D) avariety of language used by a particular religion.
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36. sferor ufvrang wroneti § wae foRareti & Gew ® o emafera ¥/ 2
(i) H9-9-%7 3 fpad T =y |
(i) T .1 94T foh, 2 HTeA-FuRes & Tl € |
(iii) Tp.1 o1 31 gt Tk ot 37ef BT =1feT |
(iv) forfo foet saet b, 2 A omman € |
E T
(A) SUIF T T |
(B) wheel (i) 3 (ii) W&l & |
(©) (i), (iii) @ (iv) G & |
(D) (i), (i) T (iv) TATE |

37. CALQUE g Haife ¢ 2
(A) &7 SR & (B) SUR AT
(C) 3mTa o7 uRgha (D) 3T SR

38. UH ‘wHgar & G He @ o St st SR 1 el UeaeT Y o TH 31X STeRH oA
% Tl o STHM HR-FAfed &l

(A) IR fewem (B) UH. THEME
(©) T wEA (D) TH. TARTE

39. iy (i) : Wi (TR, T # wEnT - S fafitar s s F €
AR (i) : TIFRT T TN, TANT & T, foe 37 & 1 ik e € |
E T
(A) (i) 3R (i) I T E |
(B) (i) 3 (ii) I AT & |
(C) (1) W& & W (i) T € |
(D) (i) T & WY (ii) W T |

40. 3TMYR TR I IE FEH TaTH € 9 TR {631 ST Fehell &
(A) ToRaTeT T ATaHHOT BT
(B) SaTe & TEctiedr gRT Uger AT
(C) fordlt wToT T 3MER &9
(D) Torelt & forTe g1 ST fafe= wmome
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41. According to the structuralist, which of the following is not true with regard to child
language acquisition ?
(A) Language is a result of conditioning.
(B) The mind of an infant is a tabula rasa.
(C) Children have an innate capacity to acquire a language.

(D) Language is acquired through imitation.

42. The study with its field concerned with acquired disorders of language associated with
neurological damage is

(A) speech pathology (B) Neuro linguistics
(C) Aphasiology (D) None of the above

43. ‘Diglossia’ is a term used to refer to the use of the following varieties of a language :
(A) High and Low
(B) Dialect and Idiolect
(C) Spoken variety and written variety

(D) Living variety and Extinct variety

44. Assertion (i) : Linguistic variation that is due to the context or topic is called stylistic
variation.

Assertion (ii) : Linguistic variation that is due to the age and gender of the speaker is
called Interactionally determined variation.

Codes :
(A) Only (i) is correct.
(B) Both (i) and (ii) are correct.

(C) () is correct, but (i1) is incorrect.

(D) () is incorrect, but (ii) is correct.

45. The term ‘inter language’ refers to a variety of language :
(A) used by adolescents for in-group communication.
(B) used by infants before they begin to use complete sentences.
(C) used by tourists for international communication.

(D) used by speakers at an intermediate stage of language learning.
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41.

42,

43.

44.

45.
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ARG & SR, Frfafad § @ B 91 %2 16l 967 375 & a) § el el ¢ 2
(A) O, 3o H RO E |

(B) T fere] 1 5+ Toh T T & |
(C) ==di | W7 WRaH i SFTia 79T Bl € |
(D) T SFHROT §IRT AT S ST & |

T o forgen fovaes wrafass faer 9 2Afsd Jefasri ¥ gwiud g og €
(A) T Taepid [ae™ (B) dfrer e
(C) ey fomiH (D) ST H ¥ B Tl |

gt g ug fordt amen o f=feifiad § 9 ford g sl Eeiig shiar € 2
(A) S T =

(B) el e AT el

(C) HiREgs TR e fefad TR

(D) Siifad WehT T2 faeTet Uehr

AT (i) : TS AT UHOT o HROT T dTeT HIOT Ao GNEa i ST IRed Fed & |

AMUH (i) : T BT Y AT T & HRT & A6l AT AP G B 3= 5T g
T afted sed € |

E T

(A) Fact (i) TETE |

(B) (i) 3 (i) IAT W T |
(©) (i) W&l & W (i) ToTdT & |
(D) (i) T & W (ii) WE ¥ |

ST T UF 3 faf= WepR <l sroret ot TR el €

(A) TSTehT v TSheTRT 5T AT GoIvoT o oI fohdT ST € |

(B)  STeht T TOIQTat gRT U7 SRy et MR 3 o U Tohall STl & |
(C) TRt W Udeent gRT FRTCT THIT0T o T fohar ST & |

(D) TSThT TRNT SerATell IR TOT WRE i HTeaiies 3Teen | fopar Srar € |
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46.

47.

48.

49.

50.
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Identify the correct sequence of Child Language Acquisition, from the given choices :

1. Babbling 2. Holophrastic stage
3. Cooing 4.  Two word stage
Codes :

(A) 3,1,2,4 B) 1,3,2,4

©) 2,3,4,1 D) 4,2,1,3

Which language teaching method ended up ‘teaching about the language’ instead of
‘teaching the language” ?

(A) Grammar Translation method
(B) Direct method

(C) Audio Lingual method

(D) Suggestopedia

Dyslexia is reportedly rare among learners of a language in which there is one to one
correspondence between a sound and a letter.

(A) True (B) False
(C) Open-ended (D) To be verified
Parsing is meant to identify _______in a sentence.
(A) clauses (B) phrases
(C) lexemes (D) idioms
Match the following :
List -1 List — 11
a. Toponym 1 Sense-relation
b.  Hyponym 2 Semanties-Pragmatics
c.  Turn-taking 3.  Place-name
d.  Entailment 4 Conversation
Codes :
a b c d
(A) 3 1 4 2
B 2 3 1 4
<o 4 2 3 1
D) 3 4 2 1
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46. ToTS] 9T o % WEl v H FEfcfEd i sEterd wY SR A iU T $e 9 9 s 9

1. SEomee 2. TR YRS STae
3. T 4. fowres aperen

T

(A) 3,1,2,4 B) 1,3,2,4

<© 2,3,4,1 D) 4,2,1,3

47. TR oo fereqor fafe <A1 TATG “qTaT TeT0T % SRel 97T % aR H Freor H ga ?
(A) ST AR [ary
(B) e faty
(C) sV fafy
(D) iohideh f¥TeT YoTedr

48. ATE Shed I UH TN e et H foRet AT S § S et 31X aot & & qor ane @

(A) WEE | (B) ToE |
(C) AT & | (D) T fehar ST =fey |
49. Ug TFEqoT F 37 &, fordt At | 1 TEA HT |
(A) YT (B) UgsY
(C) vif=H (D) HER
50. T=TaRad s gafed 1 :
e -1 = - 11
a.  ®IAH 1. 9= gEy
b. A 2. IfORH-HhavART foeT
c. A 3. ®H AW
d. o 4. ST
E
a b c d
A 3 1 4 2
B 2 3 1 4
© 4 2 3 1
D) 3 4 2 1
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